Решение задачи «Рога и Копыта» Маршалко Георгия 11 ИМ (2014)
type yup = record

b: integer;

s: string;

end;

var a: array [1..10] of yup; i,j,n,x:integer; st,y:string;

begin

readln (n);

for i := 1 to n do

begin

readln (st);

for j := 1 to 10 do

begin

if st=a[j].s then begin a[j].b:=a[j].b+1; break; end;

if a[j].s='' then begin a[j].s:= st; a[j].b:=a[j].b+1; break; end;

end;

end;

for j :=1 to 9 do

for i:=1 to 10-j do

if a[i].b>a[i+1].b then

begin

x:=a[i+1].b;

a[i+1].b:=a[i].b;

a[i].b:=x;

y:=a[i+1].s;

a[i+1].s:=a[i].s;

a[i].s:=y;

end;

for i:=1 to 10 do

if a[i].b<>0 then writeln(a[i].s,' ',a[i].b);

end.
